9300 73rd Ave N. Direct Phone: 763-488-9200

]
Brooklyn Park, MN 55428 (N YST R D M] Direct Fox: 763-488-9201

Toll-Free: 800-547-2635 e-malli Info@nystrom.com
Fax 800-317-8770 Right to site. Internet: wwwnystrom.com

AT - '
] =

Model EJ—FLP - Flush Condition Model EJ—FLP — Corner Condition
See Sheets 1 — 14 See Sheets 15 — 25
Seismic Pan — Professional Series

Model(s) EJ—FLP
Horizontal Expansion Control System

The following installation procedure is very important and must be fully understood
prior to beginning any work. To ensure proper installation and performance of
expansion joint system the following actions must be completed by the installing
contractor. Failure to do so will affect product warranty.

1) Carefully read and understand installation procedure. Contact Technical
Service Department for product assistance.

2) Inspect all shipments and materials for missing or damaged components
and hardware. Contact Customer Service with order number and invoice
for prompt assistance.

3) Inspect substrate or adjacent construction for acceptance before beginning
work. Report unacceptable construction to the project manager for
scheduled repair work.

PN: N20184



Standard Components Sheet

of 25

Concrete Threaded Anhcor #2764 Bolt 1/4” x 2-1/2" HLN

1/4” x 2-1/4” Part No. 4835
Part No. 6526

g

Nut 1/4” Zincplated A307 Bolt 1/4” x 1” HLN
Part No. 7869 Part No. 4836

Screw 1/4” x 1” FTPN CapPlug W8 Red Plastic
Part No. 5634 Part No. 4337

é
]«

3 1/8” Butt Splice Connector
Part No. 14050

©) ®)

Wall Mount
Part No. 19610



Components shown below vary in size
depending on model of system

‘ 7W9

Aluminum Pan

Model# Part # "W" dim.

EJ-FLP-200 19656 7.917"

EJ-FLP-400 19650 9.917"

EJ-FLP-600 19652 11.917"

EJ-FLP-800 19626 15.917"

EJ-FLP-1000 | 19627 17.917"

EJ-FLP-1200 | 19628 20.917"

EJ-FLP-1600 | 19617 29.917"

EJ-FLP-1800 | 19618 31.917"

b \/\/ 9 ‘
2=
Aluminum Edge Frame
Model# Part # "W" dim.
EJ-FLP-400/600 19651 5"
EJ-FLP-800/1000 | 19609 6"

EJ-FLP-1200 19606 6.50"

EJ-FLP-1600 19607 7.50"

EJ-FLP-1800 19608 9"

W

(-] (-] O

Seismic _Centering Bar

Modeli Part# | "W"dim.

EJ-FLP-400 15642 73/8"

EJ-FLP-600 15643 123/8"

EJ-FLP-800/1000 | 15630 | 183/8"

EJ-FLP-1200 15631 | 223/8"

EJ-FLP-1600 15603 | 263/8"

EJ-FLP-1800 15604 | 383/8"

Flush Condition

sWs

Aluminum Pan

Model# Part # "W" dim.
EJ-FLP-200W 19658 3.835"
EJ-FLP-400W 19653 5.835"
EJ-FLP-600W 19654 7.835"
EJ-FLP-800W 19632 10.835"

EJ-FLP-1000W 19633 12.835"
EJ-FLP-1200W 19634 15.835"
EJ-FLP-1600W 19635 20.335"
EJ-FLP-1800W 19636 23.835"

Aluminum Edge Frame

Model# Part# | "W"dim.
EJ-FLP-400W/600W | 19651 5"
EJ-FLP-800W/1000W | 19609 6"
EJ-FLP-1200W 19606 6.50"
EJ-FLP-1600W 19607 7.50"
EJ-FLP-1800W 19608 9"

ALt

214"

Aluminum Edge Frame

Sheet

of 25

Model # Part # "W dim.

FLP-200/200W| 19657 4 3/4"

"

1 [

L

Seismic Centering Bar

Model # Part # ‘W dim.
FLP-200 | 11120 10"




Installation procedure for

flu

sh condition

Sheet

of 25

Finished floor elevation — sk **
\ - -

_ S W _ _|
—— Flush A
T (Vertical offset——_ R
4 . . . d )
DT el / not permitted) \\\ A g an
R « 5 [ a
4‘ a . .4 9 a VIR, ‘ . ‘ 4.-. ‘ /l a4 . q 4 =~ E " ‘
. e 4 T . ' . S /A 4T S .o
L e CORNER /|3 - %d a0
~ - 4 -.Concrete Slab4 "-.. - . - %, '+ Concrete Slab . = <.
. e A PR R S a
g . e - .o 4 a ] - T .
N 4 - N . < . Tile . 4y, - g .

s 4. . . o . .9 S . - st ) v

A A TYTIR S < .. -4 2 4 s i

drawings or Cad detail.

\ |
Joint Opening

Prior to beginning work, installer shall inspect opposing concrete slabs,
corners and blockouts for acceptability. For repair (if required) refer to
step 2, also, measure joint opening for proper size as called for on shop

* See Shop drawings or Cad detail for specific blockout information.

Acceptable Unacceptable
(Repair Required)
Square edge required \
\
. .
\ | Repair corner
\
J— _ = —t Q= P
\ . 3
. ‘\—Level \_ Opposing slabs > °§ e @
PR | Base \ | to be|flush / | D9S Bl aa)
P a ae \ \ \\ \\ / _.S o] 2 .. ., B
SREUETEEME IR \ Ny /) mo.a AR S
. N . i . I . Ca'
; S 4 : . ) a -7, AL . L - cre 4
L . . ™ .o . . | <o - 4 a . C
© s 4Concrete Slab-.. " . a4 . Concrete Slab * " .«
S S B ST B T e
.. N IR e . - 4 ‘a’ . .
4 .- L L < 4 < . a'.
l... a .-<44. .‘ . R . ) . -e 44
.o . L8.49" 4 < A h .q

2 written instructions.

Joint Opening

Repair corner of concrete slab and blockout base following manufacturers




Figure 3a.1 Figure 3a.2

~—Nut Cavity — Aluminum
/ Edge Frame

,— Aluminum
Edge Frame

s
~—Part# 4835

"\ Part# 7869

Figure 3a.1 — Insert (4) ZINC PLATED NUTS (Part # 7869) into NUT
CAVITY of ALUMINUM EDGE FRAME.

Figure 3a.2 — Thread Bolt 1/4” x 2—1/2” HLN (Part # 7869) into each

ZINC PLATED NUT, spacing at 36” on center (starting 6” from either end).
Tighten until bolts are secure.

Use RAWL drill bit #2786
(or equivelent). Follow
manufacturers instructions

Aluminum
Edge Frame

Utilizing pre—drilled holes in Aluminum edge frame assembly as a
template, drill pilot holes using a 3/16” TAPPER Masonry drill Bit. Use
two 5 foot Aluminum Edge frame sections (1 on each side of joint
opening) when starting a run of Seismic Pan. See step 6.

Sheet

of 25




Part # 6526 —

Aluminum Edge Frame
assembly

Sheet

of 25

. h 27
he - ! | 44 .
44q ., | : < a'A
. .. ]
L 4
v, 4" . . v A‘ 4 4
4 e .
. . 4 <. < 4
.o . 4 a .
N s ' < o 4 a
A //4 L g .
. -9 LA PRI
e “ LAl . a <
. 4 - . < a4 < 4 a4
) a 47.a aa
CEE N R

Pre—drilled pilot hole /

3¢

Fasten Aluminum Edge Frame Assembly securely using Threaded Anhcor
Raw!l Tapper #2764 1/4” x 2—1/4” (Part No. 6526)

~__— Seismic—Centering
(_Z\:"§ - Bar
. \ =
Aluminum Edge Frame F
S ‘ =~
assembly \ :@5
2
h ]
' 4q a 'A'_.
.ql_ a- ’ " ..4
a . . . N
N .. <. 4
s i
T :
A 4.-' “ < 4'.4

Insert Seismic—centering bars into circular aluminum cavity as work
progresses from step 3c. Space bars at 18” o.c. See plan next page.




All Seismic—centering bars must be
oriented in the same direction.
Side of the Seismic—centering bar

labeled ”"Top” must be facing UP.

Reference line
or face of wall

N

Sheet

of 25

Spening \
L/2 Min. N
,’L”.——
____________ e o M R & S
- - s—=
I —— i —— E——— O — ———
- Aluminum Edge Frame -
| |
_ Repeat B 18” |
18” o.c.
~ Part No. 5634

~._ Section

N

N~

Aluminum Pan

Butt Splice
Connector <

N
* Aluminum Pan ~_"

)

Plan

After aluminum edge frames and Seismic—centering bars are installed,
5 start adding butt splice connectors to one end of each aluminum pan
using factory holes provided and part no. 5634 (Screw 1/4” x 1” FTPN)




Sheet

of 25

Unused Splice

Heavy Tape Connector Holes—;
N

Aluminum Pqn\

gp::,;rj;gim Reference line

or face of woll\
\\

Repeat (18”) 18" X" /

Use Heavy Tape to cover un—used splice connector holes (this will be at
the first aluminum pan to be installed against the wall). Take
Measurement ”X” from Aluminum Pan and align first self—centering bar to

this dimension as shown. This step is to double check for accuracy
before installing the Aluminum Pan



Aluminum Penﬁ\\

Sheet

of 25

/ Philips Head Screwdriver

—Aluminum Pan

with wall / refernce line.

Aluminum Pan.

Center the Aluminum Pan on joint opening while keeping end of pan snug

Use philips head screwdriver to fine—tune
alignment of seismic—centering bars to associated pre—drilled holes in




Bolt 1/4” x 2-1/2” HLN

Part No. 4835

CapPlug W8 Red Plastic
Part No. 4337

:

Note:
—Installation Tip:

inch—Ib setting.
wrench.

Insert Part No. 4835 through pre—drilled holes in Aluminum Pan and
8 seismic—centering bars and tighten to
with CapPlugs (Part no. 4337).

inch—Ibs. Cover bolt heads

Calibrate battery operated drill / driver to proper
Periodically inspect for proper torque utilizing “clicker”

Sheet

of 25




,1 O’—O”
Al. Edge Frame

7

Reference line
or face of wall

10°-0” - 5'-0" _
Al. Edge Frame Al. Edge Frame

7

.

N 105_0’7

105_077

\ Al
\ AN

. Aluminum Pan. © ©

Pan Al.

Pan

\Componem‘s should be staggered as shown above

Outside Pan edge

\ Aluminum Pan

\Aluminum Edge

o\e °

AN f— — 1 _
N «
[ Aluminum Edge Frame N
' N\
] ]
Repeat (18”) 18” _

9 Aluminum Pan.

Repeat steps 5, 6, & 7 to align seismic—centering bars for next section of
Be sure to start threading seismic—centering bars for this
section (do not completely tighten seismic—centering bars (as noted in step
8) until Step 10 is complete).

Ensure Aluminum pan sections butt tightly

together and that the outside edges align from section to section.

Sheet

10

of 25




Repeat (18”) 18"

10

i Aluminum Pan

Hole Punch ‘

™N

Nail Setter / é
1 /ll

Butt Splice Connector

Screw 1/4” x 1” FTPN
Part No. 14050

Part No. 5634

—— Screw 1/4" x 1" FTPN
Part No. 5634

— Butt Splice Connector
/ Part No. 14050

Aluminum Pan—— \

-

Using the splice connector holes in the Aluminum Pan as a guide, firmly
tap in guide marks into the aluminum splice connector below utilizing
either a nail setter of hole punch. Pre—drill 3/16” dia. pilot hole in
connctor.

Sheet

11

of 25

pan systems together.

Use self tapping screws (Part No. 5634) to complete splicing of
Tighten seismic—centering bar bolts in newly spliced

Aluminum Pan Section.




Heavy Tape
(By Others)

Heavy Tape

11

————Heavy Tape

Keep void clear and free of all debris
and contaminants

Use heavy tape continuously to protect joint opening through the next final
steps.

Infill material

12

A e g
e R "4 % ."A .
d e

. . -, E . & : . :

44.‘.' "'4 -.t’ - A ” 4 -‘1‘
e 4 o o R 4
PERT g 4 ot 4
AT A
4 - s .32,

4. L e g 4‘. : .. <« 44

Pour infill material into blockout voids and Pan cavity. *Warning! Leave

required recess for finish floor finish material thickness and proper
placement

Sheet

12

of 25




~Ensure overlap of tape does not interfere
w/ material installation. Re—adjust if
necessary.

. .4.49" 4 <

Carpet Shown — Finish floor material by others

1 3 Install finished floor material. Be sure to keep joint opening protected
(See Step 11)

—Heavy Tape

| (By Others) 7
~———Be sure that Heavy Tape
T T T N does not interfere with

‘ joint opening

P Plastic sheet
H T ~ | e \\ pro’rec’r)ion (By
eavy Tape _ . Others
(By Others) - \

N

[
T e
a a4
s 4 aq
e et
La, 4" - -
a 4. 9 a-
. e 4 .
A, .
. & P
LR 2 : ;
L . <
4a .
p a 44, :
Lot v “a

Remove Heavy Tape from joint opening. Protect surrounding finish floor
1 4 material using Heavy Tape and Heavy Gauge Plastic Sheeting

Sheet

15

of 25




o ——— Install backer rod (Supplied by others)
Pad >/ and bond breaker tape (Supplied by

/ \\ others) as shown
/
Follow manufacturers procedures

for priming aluminum surfaces
and mixing sealant

_——Elastomeric Traffic
Bearing Sealant-—

\
\

. A 44, : B . . . .
. 9 Te . A.A9 4 . . . i Lo.o9 . L gt

1 5 Install Backer Rod, Bond Breaker Tape (Supplied by others) & Sealant
(Supplied by others).

P Temporary cover
Finished flooring— s (Supplied by others)
material / e
\ i 4‘ ._-.,
; aq 4. :44 . ‘ q .f'A
B e o A
. : - . ..-' ,_,,' & Cat
_4.,_,4 s talg . PR 8, Ca o S a ..,
. T 4 . a. a -4, . e o < 4
B 4 ) -- 4 e .' ..4 . . = a : 5 . ‘”
..4 4, . .-.‘~ o PE A -Ya . '4. $ 4 . . .- .
Cae el Tt A e cas sy Ny :
. 4 . . < . a . < . 4l 4 a a4,

Installing contractor shell cover and protect the finished expansion joint

’l 6 assembly from damage during installation of finish floor materials. The
expansion joint assembly is a finished product. Damage to expansion joint

finishes and components are excluded from warranty

Sheet

14

of 25




Installation procedure

Sheet

15

for

corner condition

— - a ~—
. B/ < 4 < 4 44
O < N Ut N .
“a 4 . .4 -9 . <
<. Ay, LA a4

T, Y N A . e .
< C . - ”
e 4 - 4.'_- v L9 "4
) . 4 o .
< . & - " .
a e < : R
< Y .. -'q. v,
a4 . . h L
e “ T4 4 4
) L9 e i P
.q T . ' .
s . @ . .
PAh Sa Tty e
; . . i . \
IR P g
‘s e AT . C X e 4
s Concrete Wall .. -«
B : . o.a
S A & A
- . E . . . .
< a . .
a e :
.4 ‘a. " 4 . v
hi g s -a a4

of 25

i Finished floor elevation

CORNER /| 4.+

_ \

< e 4 -

IR

A A'.A; ’ ‘-

. s

a . L L . <

s AT el g
.ql'-. AT A e

.+ % , 4Concrete Slab4 . Y

B N ) a

. S ’
s g g v <
A 7 al . g "

Joint Opening

Prior to beginning work, installer shall inspect opposing concrete slabs,
corners and blockouts for acceptability. For repair (if required) refer to
step 2, also, measure joint opening for proper size as called for on shop
drawings or Cad detail.

* See Shop drawings or Cad detail for specific blockout information.

Acceptable

Unacceptable

= ——Square Edge

: | Required

s o Level Base
s e
Concrete, \ W
Wan
- autt .,:‘-:j'.-.“,,-... o .
-Gonprete Slab.
Lty s

(Repair Required)

- Repair Corner

Build up base of Blockout

Concrete
Wall

.4

Joint Opening

Repair corner of concrete slab and blockout base following manufacturers
written instructions.

*[Contrate: SIdb

“lrregular Base

-—

Joint Opening



Figure 3a.1

Vs Nut Cavity

,— Aluminum
Edge Frame

N\
~—Part# 7869

3a

Figure 3a.1 -

Figure 3a.2

Aluminum
Edge Frame

" Party 4835

Insert (4) ZINC PLATED NUTS (Part # 7869) into NUT
CAVITY of ALUMINUM EDGE FRAME.

Figure 3a.2 — Thread Bolt 1/4” x 2—-1/2” HLN (Part # 7869) into each

ZINC PLATED NUT, spacing at 36” on center (starting 6” from either end).
Tighten until bolts are secure.

Sheet

16

of 25

Use RAWL drill bit #2786

(or equivelent).
manufacturers instructions —

Follow

"4 -
')

- tq

e

BT

Sb

a4

By
b
b
.
[

T4 g
1.-. ..
. Se
‘4 4.
9 4
-y
L a
A «
. -l ’
. T a 4
. . 9
.‘ <
a
a 4

She
4 -Concrete -
4 PR :

. 4

A

Wall.
<

a4 L d

See step 6.

Utilizing pre—drilled holes in Aluminum edge frame assembly as a template,
drill pilot holes using a 3/16” TAPPER Masonry drill Bit.

Aluminum Edge frame sections (1 on each side of joint opening) when
starting a run of Wabob Seismic Pan.

Use two 5 foot




3¢

Part # 6526

Aluminum Edge
Frame assembly

a9

LA Ay

"4
..".. Concrete Sla

" a

. LA.A9 4 o

.

R A

g4 - .

e e . o
a a - b
a - “ - a .
s . . . .. 4
. a4 T
.' ‘.v- ) 4.¢,
B a4 4
- .. - . a
. - a
. e _ y
4, - M < "
. T4 4 a -
: .q a4

...7. Concrete” . -

ag
. a .
< B R
. P X .
. \ .e
‘e, . .
A e ° -4
a. L.
© . e 4 .
a . ¥4
< “ 4 " a
S g
S a .
4 .

L9

a - Wall =
a 0T

Fasten Aluminum Edge Frame Assembly securely using Threaded Anhcor

Rawl Tapper #2764 1/4” x 2—1/4” (Part No. 6526) Utilizing predrilled
countersunk holes.

Sheet

1/

of 25

Finish floor
elevation

S
S

.; d-
B 441 a i
.. - T 4 e
v - ¢
R & . N
: <. . 4 e
4 - . . RS
< R P i
et a, .-
< o 44 4
2 . < . q.
s . ..
. a4 .
< 4 2% sa
.. a

40

ag

) .
A A

-4

: e "4' 41‘ N
. .- ~.Cohcrete Slab *. . & - &

. .49,

g

Aluminum Edge Frame Assembly.
installation.

Wall Mount
Part No. 19610

e “Concrete -, %
ca, Wall e 2

a 4
. . a S A ‘4-
B . <7 R
2 : e
. . : L.
a a A
SR 7 a 2
A ' <.
a - B
La
. a
L . e A
< 4.
a- Y4
a . . a°
hd N L .4

In preparation for fastening Wall Mount Extrusion (Part No. 19610), hold
ext against wall and making sure that it is LEVEL with the adjacent
Snap a chalk line to insure level
Use 5 foot piece Wall Mount at start of each joint run.




4b

holes.

4 a 4 .v
A, e
“ e
A & . .
. > . Y3 .4 .
a- ‘. "’
R Y "
: ¢ .
‘,, a ., E .
Part #6526 P S
'.44 ¢ 4t -; 4" .. ‘a
. ot .4 .
R L _— .
“Concrete -, %
b e e Wall . .2
a 4 : voo4 < .
. .". 4 av ’ PRI ‘A_'q
ot ",'. st " o e T
. . . R
e A
‘4. -. .‘4-‘.": . 4 a4l s
_ ’« RNV A .-"4_ N e 4..'; a
- ;¢ ‘Concréte Slab -~ ~ " " ¢ “ a
) oA B . . - . L A
._4_.<.44 .4-A7'4'- . . - 4_."9, 44
Wall Mount
Part No. 19610

Fasten Wall Mount with part no. 6526 utilizing pre—drilled countersunk

Sheet

138

of 25

Aluminum Splice
Connector —

— Part No. 5634

ﬂ ————— Aluminum Pan
g \\\ Section
= \\\
e e | \Aluminum Pan 7
- o g

Plan

After aluminum edge frames and Seismic—centering bars are installed,
start adding butt splice connectors to one end of each aluminum pan

using factory holes provided and part no. 5634 (Screw 1/4” x 1” FTPN)




Aluminum Pan

Heavy Tape ~

Unused Splice
Connector Holes7

/

Use Heavy Tape to cover un—used splice connector holes (this will be at
the first aluminum pan to be installed against the wall).

Sheet

19

of 25

o o s
WP,
P
T . i N
.9, 4" * . . .
a “ v 4 -4 T, .
. . 4,
'.q.‘ .Zﬂ 'v' '
C e .. . -}
’ B A .
8 . . - e Lo
LT Congrete Slab . -
: e 2lab
L . . . . .
a,. : L.
. ", ‘..".4 . .A.A9 4 B

Gently set Aluminum Pans into place as shown above.

for splicing procedure

See Steps 8 & 9




Reference line

or face of wall .
S
]
100" 10°-0” , 5'-0"
Al. Edge Frame & Al. Edge Frame & Al. Edge Frame &
WOH Mount Wall Mount Wall Mount
\
\__/
10’-0" 10°-0" 10’=0"
\ N\ Al Pan Al. Pan

Components should be staggered as

\ shown above

\\ \ \ Outside Pan
. N . edge
\\A|umlnum Pan %/\ \ \\
o ® .9 \ \ i
jg)’% \\ \ \\\ [ Aluminum Pan
) S \ \
\ 04'6‘-“/ %\ \ \\ \
o, 24°e \ \
AN 9 Qs') % \ \
\ A \ :
N A}
Q'Uminum Edge FrameX -
)
. - o ey
== _____

Aluminum Wall Mount

section.

7

Set in next Aluminum Pan snug against peviously laid in Aluminum Pan.
8 See Step 9 for splicing the two together.
butt tightly together and that the outside edges align from section to

Ensure Aluminum pan sections

Sheet

20

of 25




Sheet

2

of 25

Nail
Setter !
Aluminum Pan

Hole ii ‘
Punch ? B — T \)
A i \i
/// \

Screw 1/4” x 1” FTPN
Part No. 5634

Aluminum Splice Connector
Part No. 14050

Screw 1/4” x 1” FTPN
Part No. 5634

Aluminum Splice Connector
Part No. 14050

Using the splice connector holes in the Aluminum Pan as a guide, firmly
tap in guide marks into the aluminum splice connector below utilizing
either a nail setter of hole punch. Pre—drill 3/16” dia. pilot hole in

connctor. Use self tapping screws (Part No. 5634) to complete splicing of
pan systems together.



Heavy Tape

a
<

P I

<.7a, T4 -.. : g
B Concfefd Stab -« "+ -, . .
. .. T . R
PENNE / IR . R \

,,,,,,,,,,,,,,,,H

--45-_-'.

3

eavy Tape—

10

11

~_—Keep void clear and
free of all debris
and contaminants

Use heavy tape continuously to protect joint opening through the next final

steps.

Sheet

22

of 25

Y Infill material

R a4 - ._j 4 E
4. gLoncrete Slab. = °.
PR R X

< : .
. . ‘a4 . .4 A
e oA T, a

Pour infill material into blockout voids and Pan cavity.

*Warning!
required recess for finish floor finish material thickness and proper placement

Leave




Capet Shown — Finish floor
material by others

~ 'slllf 4 AN
‘q . . . . .. N .
o 1ol reat
\\PEnsure overlap of | . - . .0
/ tape does not I T S
\ interfere w/ T ‘_'A_ e e
material Installation. (= "~ 5 . ta @,
\Re—adjust if I R SV S
\necessary. I R
a 2t - q -
P "dq_ .4., ; 4‘4. . ;1‘.
", "« ConcreteSlab " :. ..~
.4 A"..‘i.. 'qA' ."' v .
.q. . ‘4".- ,...;4.: ."'..'-4

Install flooring material. Keep joint opening protected untill surrounding
flooring installation is complete

12

Be sure that Heavy Tape
does not interfere with
joint opening

Heavy Tape
(By Others)

Plastic shest
protection
(By Others)

‘- ; _
. f _44_. a .-41' .-Va .
. - - ) K
i 'Conpne_te,SIa;b_q-., SoE
E LA e ..44'. :4.4<-~ . o . d-
. a4 . :

Remove Heavy Tape from joint opening. Protect surrounding finish floor
material using Heavy Tape and Heavy Gauge Plastic Sheeting

15

Sheet

25

of 25




= Install backer rod (by
P N others) and bond breaker
/ \ tape (by others) as shown

Follow manufacturers
procedures for priming
aluminum surfaces and
mixing sealant

4.4 . .q.
: ﬁq 4 . 4‘ -a <
‘¢ . “ . e
pee .. “a 'd.o -
4 T e
Elastomeric LT e
Traffic Bearing —— DT R
Sealant \ Caie s T
/ a4t ':", a’ .. ‘a4
/ -9 a N
‘1“ .9 )
...... 4 la ‘./7
e e
e CLel
p) '_-4. A f, a4 .4
. a4
. _ 4
< . S . ) 9 L
L i v R fa . gt T
) . [ B A
A gog‘c'.re_’:re‘,SI;qb Ly a4
At a ‘:' A o <. 4'..3' '-.44

Install backer rod (by
others) and bond breaker
tape (by others) as shown

'] 4 Install Backer Rod, Bond Breaker Tape (Supplied by others) & Sealant
(Supplied by others)

Sheet

24

of 25




—— Temporary cover
\(Supplied by others)

Finished flooring material

I'q", 4...‘ ’ ‘g4 ' :
. .'. . .. y ) 4‘: o .QA-
-+ % " .Concrete Slab- .- 4. -
4 -.4;' 4 . i, S ‘ |
T A T

15

expansion joint assembly is a finished product.

finishes and components are excluded from warranty

Installing contractor shell cover and protect the finished expansion joint
assembly from damage during installation of finish floor materials.
Damage to expansion joint

. <,
7. A
4.4 o
. ‘3
.9
Lo 4
[ & . .
< . .4
. . <
a- . g
< L . o
. S AL -
et a,
< . 4
4 . SR
: . - a .
IR | .. *a
.. T4l
< C e
- a L
SR %
4 by
4!
g 4 Ca L,
R PR L.
. v a A
. et T4
.. a o
TR . q A
< 4. o
. 7.4 1
A 4. '-.44
The

Sheet

29

of 25




